" § EorerTaem:
‘ iRl ET Yoy 2

N6 R
HAL 2 BRI PR PR o B RS B S AT T S A RS L

= B =H=
H H
(2497)
AL LR

o S PR - A e B R A B S S T



R ESR (1/2 )
FEA
L4 SRR R BUR) By X B - ok B R A A PR SRS T T A AMEE A S T
HoH 4 2 g

JRi4h FALRBUS
¥ B gt oy s PR = e B A A B S T
FEL
L4 AL BUR BT PR b e B A A P R T AR A BE S A i
i L35 8 I VLA 5y TH AR AR % 3 8 — 7
THEs
TRy HAERE
HiE X Sy i)
H1 X X5 I
T 3.0 4
R ARAE A o646 H
HAAff 41 4F BH64E6 H—A
AR AR 5 HF649 95 —A
B4 AL

R R )




FEEEEE (2/2 )

FEAL

TE4 T 2 BUR B PR ik B A B S PTT SN R S T
&5 H O H 4 B B & | HAL 4 e

SEE T 9, 570, 000

o T AR 8, 700, 000

- HAEBUENEE (1.0%) 870, 000

THEANE
1| ShEEME T 1.000[ =
2| ERKETLSE 1.000| =X

FALERBUR



THEREE (1/1 )

fiﬁ AL 2 B o] e B 1 e SR AR A PR T S BE S A L
HOH 4 N g

LH4 SR F B ] G B 1 i e IR R A P S T T A S BE A T

LX) HLAE

RS X Sy SR

RSB X 5y LT

LREX Sy R TH

LR R XSy LT

FHI AL EY i o I

i T s X 5y fHIEZ L

BNy R - EF - 1 FEAN

A IE 7L

AHHIE (BURE BER) 2oL

S EAHIE 7L

A A I 2L

I IE LB #) gL

SR A A (B35 PR ) 2oL

Pk 2 A AHIE HHAL D 43 8 K

B BREUGE R Ot b L7g

FALERBUR




| &= | - 0 )
TENBEERE IE RNRE

% B & B mke | B fm | & %z | B =
EEIZEE X 1 5,348,804
HEREE X 1 560,956
HERER BESF =X 1 264,994
HERER EEtE = 1 295,962
MIEE % 1 5,909,760
RIZEEE FaY 1 1,562,200
TER(f 2 1 7,471,960

e

—REHEE 2N 1 1,228,040 9,173
T =it FaY 1 8,700,000
HERIESEE 2 1 870,000
ERTEE FaY 1 9,570,000




| 25 | - ( o
BB )
MREthy BRETsEEERFasesge T1TFE ITHERRNRE
2 B Bl e | B M| = %z | &=
—f&TE: 5,267,295
1. BERETSE = 1 5,348,804 |us#: 300
—f&TE: 5,267,295
a3 5,348 804 |m5 309




| 2% | [&— ¢ o)

BEWE IF ITEHNARE

Z__ T BB | BEu] Be | B W] = @ | B = |

—fETE: 2,535,544

1. BEEREBRIE = 1 2,535,544 |n5%: 0
—BITE: 2,731,751

2. NNEERIETE = 1 2,732,060|msz: 309
—BITE: 81,200

3. EERETE =t 1 81,200|ms#: 0
—BTH: 5,267,295

&5 5,348,804 |n5%: 309




EERER I #WBRNERE
% BB By & | B @ | = % | B =
(A3 174,603
=353 (O EETRIE) m?2 407.0 429 174,603| 15
1.2 BIERM A 31T 744,403
EEBREAAT (O EETRIE) m2 407.0 1,829 744,403| 525
1.3 S BB I5 830,772
fil3 B 15 H=1.8m,141 A FRm2 13.1 319 4,179[A200
FURKER W=900,11 8 ZEm2 525.0 1,133 594,825|A202
EUR#RER W=600,14H ZEm2 232.0 999 231,768|A201
1.4 KERHLE 778,953
KERLES—F (BE—H) #m2 757.0 1,029 778,953| 535
1.5 RERMERE 6,813
R R A E I—b-RybEE m2 757.0 9 6,813|5F45
0
0
0
0
0
0
0
0
0
0
0
0
—#&THE: 2535544

2,535,544

NHHE:

0




[E— C 2 )
S EERUE T #BERARE
£ a1 iR 1% Hf| ¥s B & %8 fi& =
31 = 144553
EBERMBKYATAT
$THER - i 10 x 108 m 149.1 793 118,236| 555
BRI—FEY
$THER - i 10 x 108 m 31.7 793 25,138|555
HRTANIRBE t=6mm m2 0.6 1,430 858|565
ERER 2tDT+ N A¥EIA m3 0.02 575 12|75
ELHEENNSE m3 0.02 15,450 309|A310
3.2 & 2,587,507
KLY 15Mpaf& & m2 3914 257 100,590|A110
EBERMBKYATAT
SLEEITHER HhY )00 MS-2,10 x 1052 m 149.1 505 75,296 (A115
BRI—FEY
SLEEITHER HhY )00 MS-2,10 x 1052 m 31.7 505 16,009|A115
oyl @YL—1) UL
SVEEITHEE HhY -V PU-2,20 x 1552 & m 2834 1,652 468,177|A300
ALCHR B #h- B & B — o5 $ThiEL
HLERFTHER HhY -1y PU-2,20 x 10f2 £ m 87.6 1,183 103,631|A301
Hh>—i8E®
HILSZ
e s Tith: 2;& AR TR B
AR el - _ A302
THE- iR b3 BT ANADEEER S [ ™ 131.0 1,907 249,817
W25
T H#hALIERBIE
o Tih: 2;& B AFI TR B
SEEBIARER S w2 : _ A303
LSk BB AERE b3 BT ANADEEER S [ ™ 3.0 2,270 6,810
e
T it : R EE AR S A R TR e
EERYA T EEE | LB KERBECETIULIYIEIE] m2 358.4 3,920 1,404,928|A304
Tith: KEHFRERBIEITIL A RS —D /9 —
ALCHrm & b KMERGEEREE TSI bEERE [ m2 33.0 4154 137,082|A305
HXTAHILIREE t=6mm m2 0.6 2,098 1,259|A306
T#® . am#tlETIvIL 3 Y —5—
HREE LE SEBIIETTIL IVRAUR|] m2 13.1 1,825 23,908|A307
—fgTE: 2,731,751
B 2,732,060 |ns#: 309
= C 3 )]




2R T MBRARE

%W B By e | B W] = % | &=
3.1 BEDCEHEE 81,200
BEFr(LAOEEDC BEER % & (23cm X 5om X 5cm) [E=03 1.0 24,800 24,800|A311
ZFALAOEEDC BEER % & (23cm X 5om X 5cm) [E=03 1.0 24,800 24,800|A312
REMAOREDC BRE% 1% 5 (23¢m X Som X 5cm) [E5l3is 1.0 31,600 31,600(A313
i —BI%: 81,200
& 81,200 |n5%: 0




| | [E= C 6

BELdaREE IF HENARE

I By e | B Ih | & % | &=
264,994
FF&dLEER HEEEEED
BRERUHEE L=2m =] 2 53,457 106,914|A308
10.0 15,808 158,080|%7-50

264,994



JT A SV S A i T

Hh—FFk (S TEH)

g4 Mok FRE | AL fif
#4 UhEES ) m2 429| (%
SR K Jakn D) UhEELE) m2 1,829] (i
FER I — b GEET—1) #Hm2 1,029] ({iak
KFERGIEY— b (R B Bt #Hm2 11| (Eg
KFERGIEY— b (R AR Hm?2 49.5 (&g
(R T v—b ek M m2 9 (ak
N/ 4t A 45, 091| (3%
U Ik m 793| (fiZR)
FHAGH - R— Rk m2 1,430| (i)
EA T m2 575| (it Z2)




%15 HALER =4 (IMEESE) 1 m2 Bl (i
s REANALHEEE T dujan U B (I Bl SL e
& 429 [ (SRBES(E) FA2-1-5
P A83
[Ex] [Zofth) ©F 20~30%
m2 ELR )
£ i iz £t Ak sTE & AT Bl & K biic) £
REEER 0.015| A 22, 880 343. 20| 552
Z DA (57) X 25% Y 85. 80
2 429. 00

¢ (o>
{1

429




F2 WA sEnsRRg T (IMEEE) 1. 00 m2 i F2 (3%
TR AT R5/A Ho A 5 T 5420 4 B A 5l B L7
& 1,829 [ (SRBES(E) FA2-1-6
P A83
[Ex] [Zofth) ©F 20~30%
1 m2 ELR )
£ i iz £t Ak sTE ¥ = T Bl & B biic) £
BIEER 0.07] A 20, 904 1, 463. 28|57-3
Z DA (57) X 25% Y 365. 82
P 1,829. 10
B Al 1, 829




#5375 Hiffis KEBIE— 1 EBAEV—F)

1. 00

Hm?2 ELIES

(e

SEERS IR — |

AL T A e R R B A

4 1,029 M (FEE— ) FA1-1-29
P A13
[E%] [Zofh) D3 20~30%
1 Hm?2 ELR )
£ i iz £t Ak sTE & T Bl & K biic) £
L —h HEH 1 HEE 60R L1 m2 1.1 72. 60|81 B HifliE
e —h FAE} L1 m2 49.5 54. 45| 458-2 2 Hiffi
EHE (BEh+ HEAKD X 5% NN 6. 35| (72. 60+54. 45) X 0. 05
O 0.022| A 32, 552 716. 14| 5775 HAM#Z -6
Z DA (57) X 25% N 179. 04|716. 14 X0. 25
& 3 1, 028. 58
B Al 1, 029




3175 Hif & SeEY I — b ARG R 1 fhm 2 ELLES (e

SELIE L — AL S T T UE B R B LU
& 1.1 H I SR FA1—1—29
P Al13
1. 00 H#Hm2 ELRi )
g4 i iz £t Ak sTE ¥ = T Bl & B biic) £

gGE O wmEV—F Bk s — (1K) L1 m2 1.04 1.14|A23

5 3 1. 14

B Al 1.1




(i 3-275 Hiffi SRR — b RER M AR 1. 00 Hhm2 4 A (e

SELIE L — IR T T SR UE B B L
4 49.5 [ TRERAT AL FAI—1—29
P Al13
1 Hm?2 ELR )
£ i iz £t Ak sTE & AT Bl & K biic) £

gGE O wmEV—F Bk s — (1K) L1 m2 45 49.50|A24

& 3 49. 50

B Al 49.5




a4 Bl (M ER: v — b - Ry M 1 m2 0 Al (gt
I A TR IR T T SR UE B B L
& 9 1 S e Ry M FA1-1-33-13(100m2 & 7= 1 )
P Al16
100 m?2 ELRi )

£ i iz £t Ak sTE & AT Bl & K biic)

N7 v 7 AttE L=k ko M 0.0200 H 45, 091 901. 82| 5541 5 Bifli
a3 901. 82
B Al 9




4175 HifliaE

k7 v 7 iEls 4t

H ELLES

(e

k7 > 7 5@ INFEHEGE T e e B A i B L Y
& 45,091 H 4t FA1-1-34
P Al7
(%] [Zoff) o 20~30%
1. 00 H SR

£ PR M B AINRRS O A Bl & i 9

—WE AT L.oool A 25, 272 25, 272. 00| %5-15

BRE 122§t 26.0] L 147 3, 829. 80[A25

A EHmH At L 130/ H 8, 559 9, 671. 67|A28

< A (97) X 25% 1| 3K 6, 318.00(25, 272. 00 X 0. 25
& § 45, 091. 47
Bl 45, 091




Hi50 HR L— U LT 1 m 2 LA (€3]
= T JA AL T T U B (A T L
4 793 [ FA2-2-46
P A98
[#E] [Zofh) D= 20~30%
1 m YR
£ i Mo IAINDRS ¥ & HAAL H & H i P

Bk T 0.020] A 31, 720 634. 40|57 —-38

£ DAt (%7) X 25% I 158. 60
& i 793. 00
HL ] 793




o HifiFk

KIFEMR - A — N

1 m2 LIS

()

RIFEH - A R NSRS T A e R A B L

4 1,430 H FA2-2-33
P A95
[#E] [Zofh) D= 20~30%
1 m2 M

£ PR iz £t JER~HE 5 B AL Bl & K 1 E2S

TEEER 0.050| A 22, 880 1, 144. 00|55 -2

£ DAt (57) X 25% I 286. 00
& i 1, 430. 00
HL ] 1, 430




T WAl A E R 1 m2 2 LA (€3]
A R N TS T T A AT A L Y
4 575 [ FA2-2-49
P A100
1 m2 M
£ PR iz £t JER~HE & AL Bl & K 1 E2S
A7 8T v 7 iE iR |L=15. 9km DT2t+ A\ HFEIA 0.101] H 5, 686 575. 42| ¥ - D/10
TERE 0T (A-2-2-49-3 K V) L=15. 9km 2tDT+ A HAEIA (10m3d> 72 0)
D1=2.3
D=D1 X k (0. 44) =2. 3%0. 44=1. 012
& oz 575. 42
HL ] 575




